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Air pollution & Soil pollution

1. What is the current situation?
2. Which solutions do we propose?
3. Consequences



1. Air Pollution levels now

● 40 million people in the 115 largest cities in 

the EU are exposed to air exceeding WHO air 

quality guideline values

○ Roughly 90% of city of city dwellers

● Since the industrial revolution, global 

temperatures have risen by 1℃

○ Melting ice caps

○ Forest fires

○ Heat waves
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Causes of air pollution

Man made:

● Burning fossil fuels (Coal, Oil, Petrol, Diesel)
○ Release nitrogen oxides - Smog, Acid Rain
○ Carbon Dioxide - Greenhouse gasses, trap heat in the 

atmosphere
● Mass agriculture

○ Cattle - Cows fart, release mass amounts of methane

Natural:

● Volcanic eruptions
○ Dust/Ash into sky

● Sand Storms



2. Which solutions do we propose?

Changes need to be made on a global scale as well as on an 
individual or community level

Regarding Europe:
● EU working on improving air quality since 1970s
● European Commission adopted Clean Air Policy Package in 

2013
→ reducing national emissions having negative impacts on 

human health & environment
→ NERCs for each member state
Air - Policies - Environment - European Commission (europa.eu) for more info

https://ec.europa.eu/environment/air/index_en.htm


On individual/ community level:



3. Air pollution solution consequences

● Increase in laws will force countries, companies 
and individuals from using as much non 
renewable energy (Coal, Oil, Petrol) 

● Increase in electric cars and uses of busses will 
reduce amount of carbon dioxide forced into 
atmosphere
○ These will lower the amount of greenhouse 

gases in the air, will improve smog around 
the globe and help repair the ozone layer

● Should improve the life of people living in big 
cities where air pollution is a massive problem 
(Asia)

● More people use public transport means traffic 
and road congestion will drop in big cities 
(California)

● Improve overall health to all 



Renewable energy at a country wide 
level can be very expensive:

● $2.6 – $4 million per average-
sized commercial wind turbine

● 1 MW solar farm would cost 
roughly $1 million to install

Could be very hard for countries with high 
debt to implement these examples especially 
after Covid



Soil and water pollution :
Pesticides :





2.Which solutions do we propose ? 
❖ The use of biocontrol

➔ The use of living organisms

➔ The use of chemical mediators    

➔ The use of natural substances

❖ Digital agriculture
❖ Adopt good agricultural 

practises
➔ Co-farming



3. Soil and water solution consequences:

● improving the working conditions of farmers, who no longer breathe or 

handle synthetic products that may be toxic.

● Reducing ecosystem alteration

● Improving the health of all

● Preservation of aquatic fauna 

● Protection of biodiversity 




